

Fixed Point Theorems in C^* -Algebra Valued Extended Hexagonal b -Asymmetric Metric Spaces

Hafida Massit ¹, Mohamed Rossafi ² ✉, Liliana Guran ³

¹ Department of Mathematics, University of Ibn Tofail, B.P. 133, Kenitra, Morocco

² LaSMA Laboratory Department of Mathematics Faculty of Sciences, Dhar El Mahraz University Sidi Mohamed Ben Abdellah, B. P. 1796 Fes Atlas, Morocco

³ Department of Pharmaceutical Sciences, "Vasile Goldi," Western University of Arad, Arad, Romania

ABSTRACT. In this present paper we introduce the class of C^* -algebra valued extended hexagonal b - asymmetric metric spaces and establish certain fixed point theorem. Non-trivial examples are further provided to support the hypotheses of our results.

1. INTRODUCTION

Fixed point theory is an important tool for solving existence of solutions of many non-linear problems in various branches of science and has been studied in different spaces.

Ma et al. [13] introduced the notion of C^* -algebra valued metric spaces by replacing the set of real numbers by the set of all positive elements of a unital C^* - algebra.

In 2015, Ma and Jiang [14] introduced a concept of C^* -algebra valued b - metric spaces which generalize an ordinary C^* -algebra valued space and give some fixed point theorems.

In 2017 Kamran et al [7] initiated the concept of extended b - metric spaces.

Definition 1.1. [7] Let X be a non empty set and $E : X \times X \rightarrow [1, \infty[$. A function $d : X \times X \rightarrow [0, \infty[$ is called an extended b - metric if it satisfies:

- (1) $d(x, y) = 0 \Leftrightarrow x = y \forall x, y \in X$.
- (2) $d(x, y) = d(y, x), \forall x, y \in X$.
- (3) $d(x, y) \leq E(x, y)[d(x, z) + d(z, y)] \forall x, y, z \in X$.

(X, d) is called an extended b - metric space.

The notion of extended hexagonal b - metric spaces was introduced by Kalpana et al. [5].

Date submitted: 2022-11-03.

2020 Mathematics Subject Classification. Primary 47H10; Secondary 54H25.

Key words and phrases. Fixed point, C^* -algebra valued extended hexagonal b - asymmetric metric spaces, contractive mapping.

Definition 1.2. [5] Let X be a non empty set and $E : X \times X \rightarrow [1, \infty[$. A function $d : X \times X \rightarrow [0, \infty[$ is called an extended hexagonal b - metric if it satisfies:

- (1) $d(x, y) = 0 \Leftrightarrow x = y \forall x, y \in X$.
- (2) $d(x, y) = d(y, x); \forall x, y \in X$.
- (3) $d(x, y) \leq E(x, y)[d(x, u) + d(u, v) + d(v, w) + d(w, z) + d(z, y)] \forall x, y, u, v, w, z \in X$
and $x \neq u, u \neq v, v \neq w, w \neq z, z \neq y$.

(X, d) is called an extended hexagonal b - metric space.

2. PRELIMINARIES

Throughout this paper, we denote \mathbb{A} by an unital (i.e ,unity element I) C^* -algebra with linear involution $*$, such that for all $x, y \in \mathbb{A}$,

$$(xy)^* = y^*x^*, \text{ and } x^{**} = x.$$

We call an element $x \in \mathbb{A}$ a positive element, denote it by $x \succeq \theta$.

If $x \in \mathbb{A}_h = \{x \in \mathbb{A} : x = x^*\}$ and $\sigma(x) \subset \mathbb{R}_+$, where $\sigma(x)$ is the spectrum of x . Using positive element, we can define a partial ordering \preceq on \mathbb{A}_h as follows :

$$x \preceq y \text{ if and only if } y - x \succeq \theta,$$

where θ means the zero element in \mathbb{A} .

We denote the set $\{x \in \mathbb{A} : x \succeq \theta\}$ by \mathbb{A}_+ and $|x| = (x^*x)^{\frac{1}{2}}$, \mathbb{A}' will denote the set $\{a \in \mathbb{A}_+; ab = ba, \forall b \in \mathbb{A}\}$ and $\mathbb{A}'_I = \{a \in \mathbb{A}; ab = ba, \forall b \in \mathbb{A} \text{ and } a \succeq I\}$.

Lemma 2.1. [15] Suppose that \mathbb{A} is a unital C^* -algebra with a unit I .

- (1) For any $x \in \mathbb{A}_+$ we have $x \preceq I \iff \|x\| \leq 1$.
- (2) If $a \in \mathbb{A}_+$ with $\|a\| < \frac{1}{2}$ then $I - a$ is invertible and $\|a(1 - a)^{-1}\| < 1$.
- (3) Suppose that $a, b \in \mathbb{A}_+$ and $ab = ba$, then $ab \succeq \theta$.
- (4) Let $a \in \mathbb{A}' = \{a \in \mathbb{A}; ab = ba \forall b \in \mathbb{A}\}$, if $b, c \in \mathbb{A}$, with $b \succeq c \succeq \theta$, and $I - a \in \mathbb{A}'_+$ is invertible operator, then $(I - a)^{-1}b \succeq (I - a)^{-1}c$.

Recently, Asim et al. [3] developed a concept of C^* -algebra valued extended b - metric spaces.

Definition 2.2. Let X be a non empty set and $E : X \times X \rightarrow \mathbb{A}'_I$. A function $d : X \times X \rightarrow \mathbb{A}$ is called a C^* -algebra valued extended b - metric spaces on X if it satisfies:

- (1) $d(x, y) = \theta \Leftrightarrow x = y \forall x, y \in X$ and $d(x, y) \succeq \theta$.
- (2) $d(x, y) = d(y, x) \forall x, y \in X$.
- (3) $d(x, y) \preceq E(x, y)[d(x, z) + d(z, y)] \forall x, y, z \in X$.

(X, \mathbb{A}, d) is called a C^* -algebra valued extended b - metric space.

Later Kalpana et al. [6] defined in the following C^* -algebra valued hexagonal b - metric spaces.

Definition 2.3. Let X be a non empty set and $b \in \mathbb{A}'_I$ such that $b \succeq I$.

Suppose the mapping $d : X \times X \rightarrow \mathbb{A}$ if it satisfies:

- (1) $d(x, y) \succeq \theta$ and $d(x, y) = \theta \Leftrightarrow x = y \forall x, y \in X$.

$$(2) \ d(x, y) = d(y, x); \forall x, y \in X.$$

$$(3) \ d(x, y) \preceq b[d(x, u) + d(u, v) + d(v, w) + d(w, z) + d(z, y)] \ \forall x, y, u, v, w, z \in X \text{ and } x \neq u, u \neq v, v \neq w, w \neq z, z \neq y.$$

d is called a C^* -algebra valued hexagonal b - metric and (X, \mathbb{A}, d) is called a C^* -algebra valued hexagonal b - metric space.

The definition of C^* -algebra valued extended hexagonal b - metric space was defined in the following way in [5].

Definition 2.4. Let X be a non empty set and $E : X \times X \rightarrow \mathbb{A}'_I$.

Suppose the mapping $d : X \times X \rightarrow \mathbb{A}$ if it satisfies:

$$1) \ d(x, y) \succeq \theta \text{ and } d(x, y) = \theta \Leftrightarrow x = y; \forall x, y \in X.$$

$$2) \ d(x, y) = d(y, x); \forall x, y \in X.$$

$$3) \ d(x, y) \preceq E(x, y)[d(x, u) + d(u, v) + d(v, w) + d(w, z) + d(z, y)] \ \forall x, y, u, v, w, z \in X \text{ and } x \neq u, u \neq v, v \neq w, w \neq z, z \neq y.$$

(X, \mathbb{A}, d) is called a C^* -algebra valued extended hexagonal b - metric space.

Many generalizations of the concept of metric spaces are defined and some fixed point theorems were proved in these spaces. In particular, asymmetric metric space were introduced by Wilson [17] as metric spaces, but without the requirement that the asymmetric metric d has to satisfy $d(x, y) = d(y, x)$. For further investigations on the concept of asymmetric metric, the readers can view [2, 8-12, 16].

Influenced by all the above concepts, we introduce the class of C^* -algebra valued hexagonal b - asymmetric metric spaces and C^* -algebra valued extended hexagonal b - asymmetric metric space and establish certain fixed point theorems.

3. MAIN RESULT

Definition 3.1. Let X be a non empty set and $b \in \mathbb{A}'_I$ such that $b \succeq I$.

Suppose the mapping $d : X \times X \rightarrow \mathbb{A}$ if it satisfies:

$$(1) \ d(x, y) \succeq \theta \text{ and } d(x, y) = \theta \Leftrightarrow x = y \ \forall x, y \in X.$$

$$(2) \ d(x, y) \preceq b[d(x, u) + d(u, v) + d(v, w) + d(w, z) + d(z, y)] \ \forall x, y, u, v, w, z \in X \text{ and } x \neq u, u \neq v, v \neq w, w \neq z, z \neq y.$$

d is called a C^* -algebra valued hexagonal b - metric and (X, \mathbb{A}, d) is called a C^* -algebra valued hexagonal b -asymmetric metric space.

Example 3.2. Let $\mathbb{A} = \mathbb{R}^2$ a C^* -algebra with the partial order

$$(\alpha, \beta) \preceq (\alpha', \beta') \Leftrightarrow \alpha \leq \alpha' \text{ and } \beta \leq \beta'$$

and $X = \{\alpha, \beta, \gamma, \eta, \delta, \lambda\}$ with $\alpha, \beta, \gamma, \eta, \delta, \lambda \in \mathbb{R}^+$,
we define

$$d : X \times X \rightarrow \mathbb{A}$$

by

$$\begin{aligned}
d(\alpha, \alpha) &= d(\beta, \beta) = d(\gamma, \gamma) = d(\eta, \eta) = d(\delta, \delta) = d(\lambda, \lambda) = (0, 0) \\
d(\alpha, \beta) &= d(\beta, \alpha) = d(\alpha, \gamma) = d(\gamma, \alpha) = d(\alpha, \eta) = d(\eta, \alpha) = d(\alpha, \delta) \\
&= d(\delta, \alpha) = d(\alpha, \lambda) = d(\lambda, \alpha) = (4, 4) \\
d(\beta, \gamma) &= d(\gamma, \beta) = d(\beta, \eta) = d(\eta, \beta) = d(\beta, \delta) = d(\delta, \beta) = d(\beta, \lambda) = (5, 5) \\
d(\gamma, \eta) &= d(\eta, \gamma) = d(\gamma, \delta) = d(\delta, \gamma) = d(\delta, \lambda) = d(\lambda, \delta) = (1, 1) \\
d(\eta, \delta) &= d(\delta, \eta) = d(\eta, \lambda) = d(\lambda, \eta) = (2, 2) \\
d(\delta, \lambda) &= (6, 6) \text{ and } d(\lambda, \delta) = (7, 7).
\end{aligned}$$

It is easy to verify that d is a C^* -algebra valued hexagonal b -asymmetric metric space.

Definition 3.3. Let X be a non empty set and $E : X \times X \rightarrow \mathbb{A}'_I$.

Suppose the mapping $d : X \times X \rightarrow \mathbb{A}$ if it satisfies:

- (1) $d(x, y) \succeq \theta$ and $d(x, y) = \theta \Leftrightarrow x = y \forall x, y \in X$.
- (2) $d(x, y) \preceq E(x, y)[d(x, u) + d(u, v) + d(v, w) + d(w, z) + d(z, y)] \forall x, y, u, v, w, z \in X$
and $x \neq u, u \neq v, v \neq w, w \neq z, z \neq y$.

(X, \mathbb{A}, d) is called a C^* -algebra valued extended hexagonal b - asymmetric metric space.

Example 3.4. In the example 3.2 we consider $E : X \times X \rightarrow \mathbb{A}'_I$ defined by

$$E(x, y) = (x + y, x + y), \quad \forall x, y \in X$$

we have that (X, \mathbb{A}, d) is a C^* -algebra valued extended hexagonal b - asymmetric metric space.

Definition 3.5. Let (X, \mathbb{A}, d) is a C^* -algebra valued extended hexagonal b - asymmetric metric space. A sequence $\{x_n\}$ in X is said to be:

- (i) $\{x_n\}$ b -forward (respectively b - backward) converges to $x \in X$ with respect to \mathbb{A} if for all $\varepsilon \succ \theta$, $\exists N_\varepsilon \in \mathbb{N}$ such that

$$d(x, x_n) \preceq \varepsilon, \quad (\text{respectively } d(x_n, x) \preceq \varepsilon).$$

- (ii) $\{x_n\}$ converges to x if $\lim_{n \rightarrow \infty} d(x, x_n) = \lim_{n \rightarrow \infty} d(x_n, x) = \theta$.
- (iii) $\{x_n\}$ is b -forward Cauchy sequence respect with \mathbb{A} if $\forall \varepsilon \succ \theta$, $\exists N_\varepsilon \in \mathbb{N}$ such that $d(x_m, x_n) \preceq \varepsilon \quad \forall m > n \geq N_\varepsilon$.
- (iv) $\{x_n\}$ is b -backward Cauchy sequence respect with \mathbb{A} if $\forall \varepsilon \succ \theta$, $\exists N_\varepsilon \in \mathbb{N}$ such that $d(x_m, x_n) \preceq \varepsilon \quad \forall n > m \geq N_\varepsilon$.

Definition 3.6. Let (X, \mathbb{A}, d) is a C^* -algebra valued extended hexagonal b - asymmetric metric space. X is said to be b -forward (respectively b - backward) complete if every b -forward (respectively b - backward) Cauchy sequence $\{x_n\}$ in X , converges to $x \in X$.

Definition 3.7. Let (X, \mathbb{A}, d) is a C^* -algebra valued extended hexagonal b - asymmetric metric space. X is said to be complete if X is b -forward and b - backward complete.

Lemma 3.8. Let (X, \mathbb{A}, d) a C^* -algebra valued extended hexagonal b - asymmetric metric space. and $\{x_n\}_n$ be a forward (or backward) Cauchy sequence with pairwise disjoint elements in X . If $\{x_n\}_n$ forward converges to $x \in X$ and backward converges to $y \in X$, then $x = y$.

Proof. Let $\varepsilon \succ \theta$. First assume that $\{x_n\}_n$ is a forward Cauchy sequence, so there exists $n_0 \in \mathbb{N}$ such that $\|d(x_n, x_m)\| \leq \frac{\varepsilon}{5\|E(x, y)\|}$ for all $m \geq n \geq n_0$. Since $\{x_n\}_n$ forward converges to x so there exists $n_1 \in \mathbb{N}$ such that $\|d(x_n, x)\| \leq \frac{\varepsilon}{5\|E(x, y)\|}$ for all $n \geq n_1$. Also $\{x_n\}_n$ forward converges to y so there exists $n_2 \in \mathbb{N}$ such that $\|d(y, x_n)\| \leq \frac{\varepsilon}{5\|E(x, y)\|}$ for all $n \geq n_2$. Then for all $N \geq \max\{n_0, n_1, n_2\}$,

$$d(x, y) \preceq E(x, y)[d(x, x_n) + d(x_n, x_{n+1}) + d(x_{n+1}, x_{n+2}) + d(x_{n+2}, x_{n+3}) + d(x_{n+3}, y)]$$

$$\begin{aligned} \Rightarrow d(x, y) &\leq \|E(x, y)\| \| [d(x, x_n) + d(x_n, x_{n+1}) + d(x_{n+1}, x_{n+2}) + d(x_{n+2}, x_{n+3}) \\ &\quad + d(x_{n+3}, y)] \| \leq 5\|E(x, y)\| \frac{\varepsilon}{5\|E(x, y)\|} = \varepsilon. \end{aligned}$$

As $\varepsilon \succ \theta$ was arbitrary, we deduce that $d(x, y) = \theta$, which implies $x = y$.

When $\{x_n\}_n$ is a backward Cauchy sequence, the proof is similar to an earlier state. \square

Theorem 3.9. Let (X, \mathbb{A}, d) is a complete C^* -algebra valued hexagonal b - asymmetric metric space and suppose $T : X \rightarrow X$ be a mapping satisfying

$$d(Tx, Ty) \preceq \lambda^* d(x, y) \lambda ; \forall x, y \in X$$

with $\lambda \in \mathbb{A}$ and $\|\lambda\| < 1$.

Then T has a unique fixed point in X .

Proof. Let $x_0 \in X$ and define a sequence $\{x_n\}$ by

$$x_{n+1} = Tx_n = T^{n+1}x_0, \quad \forall n \in \mathbb{N}$$

$$\begin{aligned} d(x_{n+1}, x_n) &= d(Tx_n, Tx_{n-1}) \preceq \lambda^* d(x_n, x_{n-1}) \lambda \\ &\preceq (\lambda^*)^2 d(x_{n-1}, x_{n-2}) \lambda^2 \\ &\vdots \\ &\preceq (\lambda^*)^n d(x_1, x_0) \lambda^n, \end{aligned}$$

then $d(x_{n+1}, x_n) \rightarrow \theta$ as $n \rightarrow \infty$.

For $m \geq 1$ and $r \geq 1$, it follows that

$$\begin{aligned}
d(x_{m+r}, x_m) &\preceq b[d(x_{m+r}, x_{m+r-1}) + d(x_{m+r-1}, x_{m+r-2}) + d(x_{m+r-2}, x_{m+r-3}) + \\
&\quad d(x_{m+r-3}, x_{m+r-4}) + d(x_{m+r-4}, x_m)] \\
&\preceq b[d(x_{m+r}, x_{m+r-1}) + d(x_{m+r-1}, x_{m+r-2}) + d(x_{m+r-2}, x_{m+r-3}) + \\
&\quad d(x_{m+r-3}, x_{m+r-4})] + \\
&\quad b^2[d(x_{m+r-4}, x_{m+r-5}) + d(x_{m+r-5}, x_{m+r-6}) + d(x_{m+r-6}, x_{m+r-7}) + \\
&\quad d(x_{m+r-7}, x_{m+r-8})] + \\
&\quad \dots + b^{r-1}[d(x_{m+5}, x_{m+4}) + d(x_{m+4}, x_{m+3}) + \\
&\quad d(x_{m+3}, x_{m+2}) + d(x_{m+2}, x_{m+1}) + d(x_{m+1}, x_m)] \\
&\preceq b \sum_{k=1}^4 (\lambda^*)^{m+r-k} d(x_1, x_0) \lambda^{m+r-k} + \dots + b^{r-1} \sum_{k=1}^4 (\lambda^*)^{m+k} d(x_1, x_0) \lambda^{m+k} + \\
&\quad b^{r-1} (\lambda^*)^m d(x_1, x_0) \lambda^m \\
&\preceq (\|b\| \sum_{k=1}^4 \|\lambda\|^{2(m+r-k)} + \|d(x_1, x_0)\| + \dots + \|b\|^{r-1} \sum_{k=1}^4 \|\lambda\|^{2(m+k)}) \|d(x_1, x_0)\| + \\
&\quad \|b^{r-1}\| \|\lambda\|^{2m} \|d(x_1, x_0)\|) I \rightarrow \theta \text{ as } m \rightarrow \infty.
\end{aligned}$$

Similary we obtain $d(x_m, x_{m+r}) \rightarrow \theta$ as $m \rightarrow \infty$.

Consequently, $\{x_n\}$ is b -forward and b -backward Cauchy sequence. By completeness of X , there exists $z \in X$ such that $\lim_{n \rightarrow \infty} x_n = z$.

Now we show that $d(z, Tz) = d(Tz, z) = \theta$.

$$\begin{aligned}
d(Tz, z) &\preceq b[d(Tz, Tx_n) + d(x_{n+1}, x_{n+2}) + d(x_{n+2}, x_{n+3}) + d(x_{n+3}, x_{n+4}) + d(x_{n+4}, z)] \\
&\preceq b[\lambda^* d(z, x_n) \lambda + d(x_{n+1}, x_{n+2}) + d(x_{n+2}, x_{n+3}) + d(x_{n+3}, x_{n+4}) + d(x_{n+4}, z)] \\
&\Leftrightarrow \|d(z, Tz)\| \leq \|b\| [\|\lambda\|^2 \|d(z, x_n)\| + \|d(x_{n+1}, x_{n+2})\| + \|d(x_{n+2}, x_{n+3})\| + \\
&\quad \|d(x_{n+3}, x_{n+4})\| + \|d(x_{n+4}, z)\|] \rightarrow \theta \text{ (} n \rightarrow \infty \text{)}.
\end{aligned}$$

Hence $Tz = z$ i.e, z is a fixed point of T .

Unicity:

Let $z' \neq z$ be another fixed point of T .

We have

$$\begin{aligned}
0 &\leq \|d(z, z')\| \leq \|\lambda^* d(z, z') \lambda\| \\
&\leq \|\lambda\|^2 \|d(z, z')\|.
\end{aligned}$$

Which is a contradiction ($\|\lambda\|^2 \geq 1$), hence the fixed point z is unique. \square

Example 3.10. Let $X = [0, 4]$ and $\mathbb{A} = \mathbb{R}^2$.

Define $d : X \times X \rightarrow \mathbb{R}^2$ by

$$d(x, y) = \begin{cases} (|x - y|^6, 0) & \text{if } x \geq y \\ (0, |x - y|^6) & \text{if } x < y. \end{cases}$$

It is easy to verify that (X, \mathbb{A}, d) is a complete C^* -algebra valued hexagonal b - asymmetric metric space. and $Tx = \frac{x}{3}$, we have

$$d(Tx, Ty) = \begin{cases} ((\frac{|x - y|}{3})^6, 0) & \text{if } x \geq y \\ (0, (\frac{|x - y|}{3})^6) & \text{if } x < y. \end{cases}$$

Then $d(Tx, Ty) \preceq \frac{1}{3}I_{\mathbb{R}^2}d(x, y)\frac{1}{3}I_{\mathbb{R}^2}$ where $\|\frac{1}{3}I_{\mathbb{R}^2}\| < 1$, the conditions of Theorem 3.9 are fulfilled. T has a unique fixed point $x = 0$.

Theorem 3.11. Let (X, \mathbb{A}, d) is a complete C^* -algebra valued hexagonal b - asymmetric metric space and suppose $T : X \rightarrow X$ be a mapping satisfying

$$d(Tx, Ty) \preceq \lambda[d(x, Tx) + d(y, Ty)] ; \forall x, y \in X$$

with $\lambda \in \mathbb{A}$ and $\|\lambda\| < \frac{1}{2}$.

Then T has a unique fixed point in X .

Proof. Let $x_0 \in X$ and define a sequence $\{x_n\}$ by

$$x_{n+1} = Tx_n = T^{n+1}x_0, \quad \forall n \in \mathbb{N}$$

$$\begin{aligned} d(x_n, x_{n+1}) &= d(Tx_{n-1}, Tx_n) \preceq \lambda[d(x_{n-1}, x_n) + d(x_n, x_{n+1})] \\ &\Rightarrow (I - \lambda)d(x_n, x_{n+1}) \preceq \lambda d(x_{n-1}, x_n) \\ &\cdot \\ &\cdot \\ &\cdot \\ &\preceq \beta^n d(x_0, x_1), \end{aligned}$$

Let $\beta = (I - \lambda)^{-1}(\lambda)$,

since $\|\lambda\| < \frac{1}{2}$ we have $\|\beta\| < 1$.

Then

$$\begin{aligned} (I - \lambda)d(x_n, x_{n+1}) &\preceq \lambda d(x_{n-1}, x_n) \\ &\cdot \\ &\cdot \\ &\cdot \\ &\preceq (\beta)^n d(x_0, x_1), \end{aligned}$$

then $d(x_n, x_{n+1}) \rightarrow \theta$ as $n \rightarrow \infty$.

For $m \geq 1$ and $r \geq 1$, it follows that

$$\begin{aligned}
d(x_m, x_{m+r}) &\leq b[d(x_m, x_{m+1}) + d(x_{m+1}, x_{m+2}) + d(x_{m+2}, x_{m+3}) + \\
&\quad d(x_{m+3}, x_{m+4}) + d(x_{m+4}, x_m)] \\
&\leq b[d(x_m, x_{m+1}) + d(x_{m+1}, x_{m+2}) + d(x_{m+2}, x_{m+3}) + \\
&\quad d(x_{m+3}, x_{m+4})] \\
&\leq b^2[d(x_{m+4}, x_{m+5}) + d(x_{m+5}, x_{m+6}) + d(x_{m+6}, x_{m+7}) + \\
&\quad d(x_{m+7}, x_{m+8})] + \\
&\quad \dots + b^{r-1}[d(x_{m+r-5}, x_{m+r-4}) + d(x_{m+r-4}, x_{m+r-3}) + \\
&\quad d(x_{m+r-3}, x_{m+r-2}) + d(x_{m+r-2}, x_{m+r-1}) + d(x_{m+r-1}, x_{m+r})] \\
&\leq b \sum_{k=1}^4 (\beta)^{m+r-k} d(x_0, x_1) + \dots + b^{r-1} \sum_{k=1}^4 (\beta)^{m+k} d(x_0, x_1) + \\
&\quad b^{r-1} \beta^m d(x_0, x_1) \\
&\leq (\|b\| \sum_{k=1}^4 \|\beta\|^{2(m+r-k)} + \|d(x_0, x_1)\| + \dots + \|b\|^{r-1} \sum_{k=1}^4 \|\beta\|^{2(m+k)}) \|d(x_0, x_1)\| + \\
&\quad \|b^{r-1}\| \|\beta\|^{2m} \|d(x_0, x_1)\|) I \rightarrow \theta \text{ as } m \rightarrow \infty.
\end{aligned}$$

Similary we obtain $d(x_{m+r}, x_m) \rightarrow \theta$ as $m \rightarrow \infty$.

Consequently, $\{x_n\}$ is b -forward and b -backward Cauchy sequence. By completeness of X , there exists $z \in X$ such that $\lim_{n \rightarrow \infty} x_n = z$.

Now we show that $d(z, Tz) = d(Tz, z) = \theta$.

$$\begin{aligned}
d(Tz, z) &\leq b[d(Tz, Tx_n) + d(x_{n+1}, x_{n+2}) + d(x_{n+2}, x_{n+3}) + d(x_{n+3}, x_{n+4}) + d(x_{n+4}, z)] \\
&\leq b[\lambda(d(z, Tz) + d(x_n, Tx_n)) + d(x_{n+1}, x_{n+2}) + d(x_{n+2}, x_{n+3}) + d(x_{n+3}, x_{n+4}) \\
&\quad + d(x_{n+4}, z)] \\
&\Leftrightarrow \|d(z, Tz)\| \leq \|b\| [\|\lambda\| \|d(z, x_n)\| + \|\lambda\| \|d(x_n, x_{n+1}) + d(x_{n+1}, x_{n+2})\| \\
&\quad + \|d(x_{n+2}, x_{n+3})\| + \|d(x_{n+3}, x_{n+4})\| + \|d(x_{n+4}, z)\|] \rightarrow \theta \text{ (} n \rightarrow \infty \text{)}.
\end{aligned}$$

Hence $Tz = z$ i.e, z is a fixed point of T .

Unicity:

Let $z' \neq z$ be another fixed point of T .

We have

$$\begin{aligned}
d(z, z') &\leq \lambda(d(z, Tz) + d(z', Tz')) \\
&= \lambda(d(z, z) + d(z', z')) = \theta
\end{aligned}$$

which is a contradiction ($d(z, z') = \theta \Rightarrow z = z'$), hence the fixed point z is unique. \square

Theorem 3.12. Let (X, \mathbb{A}, d) is a complete C^* -algebra valued extended hexagonal b - asymmetric metric space and suppose $T : X \rightarrow X$ be a mapping satisfying

$$d(Tx, Ty) \leq \lambda^* E(x, y) d(x, y) \lambda ; \forall x, y \in X$$

with $\lambda \in \mathbb{A}$, $\|\lambda\| < 1$ and $\sup_{m \geq 1} \lim_{n \rightarrow \infty} \|E(x_{n+1}, x_n)\| \|E(x_n, x_m)\| < \frac{1}{\|\lambda\|^8}$,

and $\lim_{n, m \rightarrow \infty} \|E(x_n, x_m)\| < \frac{1}{\|\lambda\|^2}$.

Then T has a unique fixed point in X .

Proof. Let $x_0 \in X$ and define a sequence $\{x_n\}$ by

$$x_{n+1} = Tx_n = T^{n+1}x_0, \quad \forall n \in \mathbb{N}$$

$$\begin{aligned} d(x_{n+1}, x_n) &= d(Tx_n, Tx_{n-1}) \preceq \lambda^* E(x_n, x_{n-1}) d(x_n, x_{n-1}) \lambda \\ &\preceq (\lambda^*)^2 E(x_n, x_{n-1}) E(x_{n-1}, x_{n-2}) d(x_{n-1}, x_{n-2}) \lambda^2 \\ &\quad \cdot \\ &\quad \cdot \\ &\quad \cdot \\ &\preceq (\lambda^*)^n \prod_{k=1}^n E(x_k, x_{k-1}) d(x_1, x_0) \lambda^n \end{aligned}$$

then $d(x_{n+1}, x_n) \rightarrow \theta$ as $n \rightarrow \infty$.

For $m \geq 1$ and $r \geq 1$, it follows that

$$\begin{aligned} d(x_{m+r}, x_m) &\preceq E(x_{m+r}, x_m) [d(x_{m+r}, x_{m+r-1}) + d(x_{m+r-1}, x_{m+r-2}) + d(x_{m+r-2}, x_{m+r-3}) + \\ &\quad d(x_{m+r-3}, x_{m+r-4}) + d(x_{m+r-4}, x_m)] \\ &\preceq E(x_{m+r}, x_m) [d(x_{m+r}, x_{m+r-1}) + d(x_{m+r-1}, x_{m+r-2}) + d(x_{m+r-2}, x_{m+r-3}) + \\ &\quad d(x_{m+r-3}, x_{m+r-4})] + \\ &\quad E(x_{m+r}, x_m) E(x_{m+r-4}, x_m) [d(x_{m+r-4}, x_{m+r-5}) + d(x_{m+r-5}, x_{m+r-6}) \\ &\quad + d(x_{m+r-6}, x_{m+r-7}) + d(x_{m+r-7}, x_{m+r-8})] + \\ &\quad \dots + E(x_{m+r}, x_m) E(x_{m+r-4}, x_m) \dots E(x_{m+1}, x_m) [d(x_{m+5}, x_{m+4}) + d(x_{m+4}, x_{m+3}) \\ &\quad + d(x_{m+3}, x_{m+2}) + d(x_{m+2}, x_{m+1}) + d(x_{m+1}, x_m)] \\ &= \sum_{k=m}^{m+r} \prod_{j=m+1}^k E(x_j, x_m) [d(x_{k+4}, x_{k+3}) + d(x_{k+3}, x_{k+2}) \\ &\quad + d(x_{k+2}, x_{k+1}) + d(x_{k+1}, x_k)] + \prod_{j=m+1}^{m+r} E(x_j, x_m) d(x_{m+1}, x_m) \\ &\preceq \sum_{k=m}^{m+r} \prod_{j=m+1}^k E(x_j, x_m) [(\lambda^*)^{k+3} \prod_{k=1}^n E(x_k, x_{k-1}) d(x_1, x_0) \lambda^{k+3} \\ &\quad + (\lambda^*)^{k+2} \prod_{k=1}^n E(x_k, x_{k-1}) d(x_1, x_0) \lambda^{k+2} + (\lambda^*)^{k+1} \prod_{k=1}^n E(x_k, x_{k-1}) d(x_1, x_0) \lambda^{k+1} \end{aligned}$$

$$\begin{aligned}
& + (\lambda^*)^k \prod_{k=1}^n E(x_k, x_{k-1}) d(x_1, x_0) \lambda^k] + \prod_{j=m+1}^{m+r} E(x_j, x_m) (\lambda^*)^m \prod_{k=1}^n E(x_k, x_{k-1}) d(x_1, x_0) \lambda^m \\
& \preceq \|d(x_1, x_0)\| \left[\sum_{k=m}^{m+r} \prod_{j=m+1}^k \|E(x_j, x_m)\| \right] \prod_{k=1}^n \|E(x_k, x_{k-1})\| \|\lambda\|^{2(k+3)} \\
& + \|\lambda\|^{2(k+2)} \left\| \prod_{k=1}^n E(x_k, x_{k-1}) \right\| + \|\lambda^*\|^{2(k+1)} \left\| \prod_{k=1}^n E(x_k, x_{k-1}) \right\| + \\
& \|\lambda^*\|^{2k} \left\| \prod_{k=1}^n E(x_k, x_{k-1}) \right\| I + \|d(x_1, x_0)\| \prod_{j=m+1}^{m+r} \|E(x_j, x_m)\| \|\lambda\|^{2m} \left\| \prod_{k=1}^n E(x_k, x_{k-1}) \right\| I \\
& \rightarrow \theta \text{ as } m \rightarrow \infty.
\end{aligned}$$

Similary we obtain $d(x_m, x_{m+r}) \rightarrow \theta$ as $m \rightarrow \infty$.

Consequently, $\{x_n\}$ is b -forward and b -backward Cauchy sequence. By completeness of X , there exists $z \in X$ such that $\lim_{n \rightarrow \infty} x_n = z$.

Now we show that $d(z, Tz) = d(Tz, z) = \theta$

$$\begin{aligned}
& d(Tz, z) \\
& \preceq E(Tz, z) [d(Tz, Tx_n) + d(x_{n+1}, x_{n+2}) + d(x_{n+2}, x_{n+3}) + d(x_{n+3}, x_{n+4}) + d(x_{n+4}, z)] \\
& \preceq E(Tz, z) [\lambda^* d(z, x_n) \lambda + d(x_{n+1}, x_{n+2}) + d(x_{n+2}, x_{n+3}) + d(x_{n+3}, x_{n+4}) + d(x_{n+4}, z)] \\
& \Leftrightarrow \|d(z, Tz)\| \leq \|E(Tz, z)\| [\|\lambda\|^2 \|d(z, x_n)\| + \|d(x_{n+1}, x_{n+2})\| + \|d(x_{n+2}, x_{n+3})\| + \\
& \|d(x_{n+3}, x_{n+4})\| + \|d(x_{n+4}, z)\|] \rightarrow \theta \text{ (} n \rightarrow \infty \text{)}.
\end{aligned}$$

Hence $Tz = z$ i.e, z is a fixed point of T .

Unicity:

Let $z' \neq z$ be another fixed point of T .

We have

$$\begin{aligned}
0 \leq \|d(z, z')\| & \leq \|\lambda^* E(z, z') d(z, z') \lambda\| \\
& \leq \|\lambda\|^2 \|E(z, z')\| \|d(z, z')\| \\
& < \|\lambda\|^2 \frac{1}{\|\lambda\|^2} \|d(z, z')\| \\
& < \|d(z, z')\|,
\end{aligned}$$

which is a contradiction, hence the fixed point z is unique. \square

Example 3.13. Consider $T : X \rightarrow X$ defined by $Tx = \frac{x}{3}$ in the Example 3.10 and $E : X \times X \rightarrow \mathbb{A}'_I$ defined by

$$E(x, y) = (x + y, x + y) \quad \forall x, y \in X,$$

we have

$$d(Tx, Ty) = \begin{cases} ((\frac{|x-y|}{3})^6, 0) & \text{if } x \geq y. \\ (0, (\frac{|x-y|}{3})^6) & \text{if } x < y. \end{cases}$$

With

$$d(Tx, Ty) \preceq \frac{1}{3}I_{\mathbb{R}^2}d(x, y)\frac{1}{3}I_{\mathbb{R}^2}, \left\|\frac{1}{4}I_{\mathbb{R}^2}\right\| < 1 \text{ and } 4 > 1$$

and

$$d(Tx, Ty) \preceq \frac{1}{3}I_{\mathbb{R}^2}(x + y, x + y)d(x, y)\frac{1}{3}I_{\mathbb{R}^2}$$

Then T has a unique fixed point.

Theorem 3.14. Let (X, \mathbb{A}, d) is a complete C^* -algebra valued extended hexagonal b - asymmetric metric space and suppose $T : X \rightarrow X$ be a mapping satisfying

$$d(Tx, Ty) \preceq \lambda^*kd(x, y)\lambda; \forall x, y \in X$$

with $\lambda \in \mathbb{A}, k \in \mathbb{A}'_I$ and $\|\lambda\| < 1, \|k\| > 1$.

Then T has a unique fixed point in X .

Proof. If we put $E(x, y) = k$ in Theorem 3.12 we obtain the result. \square

Example 3.15. Let $\mathbb{A} = M_2(\mathbb{R})$ of all 2×2 matrices with the usual addition, scalar multiplication and multiplication.

Define partial ordering on \mathbb{A} as $\begin{pmatrix} a_1 & a_2 \\ a_3 & a_4 \end{pmatrix} \succeq \begin{pmatrix} b_1 & b_2 \\ b_3 & b_4 \end{pmatrix} \Leftrightarrow a_i \geq b_i$

for $i = 1, 2, 3, 4$.

For any $A \in \mathbb{A}$ we define its norm as, $\left\|\begin{pmatrix} a_1 & a_2 \\ a_3 & a_4 \end{pmatrix}\right\| = \left[\sum_{i=1}^4 |a_i|^2\right]^{\frac{1}{2}}$.

Let $X = A \cup B$, where $A = \{0, \frac{1}{2}, \frac{1}{3}, \frac{1}{4}, \frac{1}{5}, \frac{1}{6}\}$ and $B = [1, 2]$.

Define $d : X \times X \rightarrow [0, +\infty[$ as follows:

$$\begin{cases} d(x, y) = d(y, x) \text{ for all } x, y \in B. \\ d(x, y) = 0 \Leftrightarrow y = x \text{ for all } x, y \in X. \end{cases}$$

and

$$\left\{ \begin{array}{l} d\left(\frac{1}{3}, \frac{1}{4}\right) = d\left(0, \frac{1}{2}\right) = d\left(\frac{1}{4}, \frac{1}{6}\right) = \begin{pmatrix} 0.5 & 0 \\ 0 & 0.5 \end{pmatrix} \\ d\left(\frac{1}{3}, 0\right) = d\left(\frac{1}{4}, \frac{1}{2}\right) = d\left(\frac{1}{5}, \frac{1}{2}\right) = \begin{pmatrix} 0.4 & 0 \\ 0 & 0.4 \end{pmatrix} \\ d\left(0, \frac{1}{3}\right) = d\left(\frac{1}{2}, \frac{1}{4}\right) = \begin{pmatrix} 0.45 & 0 \\ 0 & 0.45 \end{pmatrix} \\ d\left(\frac{1}{3}, \frac{1}{2}\right) = d\left(\frac{1}{3}, \frac{1}{2}\right) = \begin{pmatrix} 0.8 & 0 \\ 0 & 0.8 \end{pmatrix} \\ d(x, y) = \begin{pmatrix} |x - y| & 0 \\ 0 & |x - y| \end{pmatrix} \text{ otherwise.} \end{array} \right.$$

Then (X, \mathbb{A}_+, d) is a C^* -algebra valued extended hexagonal b - asymmetric metric space

with $E(x, y) = \begin{pmatrix} 2 & 0 \\ 0 & 2 \end{pmatrix}$, $\|E(x, y)\| \geq 1$.

Define mapping $T : X \rightarrow X$ by

$$T(x) = \begin{cases} x^{\frac{1}{2}} & \text{if } x \in [1, 2] \\ 1 & \text{if } x \in A. \end{cases}$$

Evidently, $T(x) \in X$. Consider the following possibilities:

case 1 : $x, y \in [1, 2]$ $x \neq y$. Then

$$T(x) = x^{\frac{1}{2}}, T(y) = y^{\frac{1}{2}}, d(Tx, Ty) = \begin{pmatrix} x^{\frac{1}{2}} - y^{\frac{1}{2}} & 0 \\ 0 & x^{\frac{1}{2}} - y^{\frac{1}{2}} \end{pmatrix}.$$

On the other hand

$$d(x, y) = \begin{pmatrix} x - y & 0 \\ 0 & x - y \end{pmatrix}.$$

it follows that

$$d(Tx, Ty) \preceq \lambda^* E(x, y) d(x, y) \lambda.$$

Indeed

$$\begin{aligned} d(Tx, Ty) &= \begin{pmatrix} x^{\frac{1}{2}} - y^{\frac{1}{2}} & 0 \\ 0 & x^{\frac{1}{2}} - y^{\frac{1}{2}} \end{pmatrix} \\ &\preceq \begin{pmatrix} \frac{1}{\sqrt{5}} & 0 \\ 0 & \frac{1}{\sqrt{5}} \end{pmatrix} \begin{pmatrix} 2 & 0 \\ 0 & 2 \end{pmatrix} \begin{pmatrix} x - y & 0 \\ 0 & x - y \end{pmatrix} \begin{pmatrix} \frac{1}{\sqrt{5}} & 0 \\ 0 & \frac{1}{\sqrt{5}} \end{pmatrix} \\ &= \lambda^* E(x, y) d(x, y) \lambda. \end{aligned}$$

where

$$\lambda = \begin{pmatrix} \frac{1}{\sqrt{5}} & 0 \\ 0 & \frac{1}{\sqrt{5}} \end{pmatrix}$$

with verify

$$\|\lambda\| = \frac{\sqrt{2}}{\sqrt{5}} \leq 1.$$

case 2 : $x \in [1, 2], y \in A$. Then

$$T(x) = x^{\frac{1}{2}}, T(y) = 1$$

$$d(Tx, Ty) = \begin{pmatrix} x^{\frac{1}{2}} - 1 & 0 \\ 0 & x^{\frac{1}{2}} - 1 \end{pmatrix}.$$

On the other hand

$$d(x, y) = \begin{pmatrix} x - y & 0 \\ 0 & x - y \end{pmatrix}.$$

It follows that

$$d(Tx, Ty) \preceq \lambda^* E(x, y) d(x, y) \lambda.$$

Indeed

$$\begin{aligned}
 d(Tx, Ty) &= \begin{pmatrix} x^{\frac{1}{2}} - 1 & 0 \\ 0 & x^{\frac{1}{2}} - 1 \end{pmatrix} \\
 &\preceq \begin{pmatrix} \frac{1}{\sqrt{5}} & 0 \\ 0 & \frac{1}{\sqrt{5}} \end{pmatrix} \begin{pmatrix} 2 & 0 \\ 0 & 2 \end{pmatrix} \begin{pmatrix} x-1 & 0 \\ 0 & x-1 \end{pmatrix} \begin{pmatrix} \frac{1}{\sqrt{5}} & 0 \\ 0 & \frac{1}{\sqrt{5}} \end{pmatrix} \\
 &\preceq \begin{pmatrix} \frac{1}{\sqrt{5}} & 0 \\ 0 & \frac{1}{\sqrt{5}} \end{pmatrix} \begin{pmatrix} 2 & 0 \\ 0 & 2 \end{pmatrix} \begin{pmatrix} x-y & 0 \\ 0 & x-y \end{pmatrix} \begin{pmatrix} \frac{1}{\sqrt{5}} & 0 \\ 0 & \frac{1}{\sqrt{5}} \end{pmatrix} \\
 &= \lambda^* E(x, y) d(x, y) \lambda.
 \end{aligned}$$

Where

$$\lambda = \begin{pmatrix} \frac{1}{\sqrt{5}} & 0 \\ 0 & \frac{1}{\sqrt{5}} \end{pmatrix}$$

with verify

$$\|\lambda\| = \frac{\sqrt{2}}{\sqrt{5}} \leq 1.$$

Therefore, T has a unique fixed point $z = 1$.

Example 3.16. Let $X = \mathbb{R}_+$ and $\mathbb{A} = M_2(\mathbb{R}_+)$ of all 2×2 matrices with the usual addition, scalar multiplication and multiplication. Define partial ordering on \mathbb{A} as $\begin{pmatrix} a_1 & a_2 \\ a_3 & a_4 \end{pmatrix} \succeq \begin{pmatrix} b_1 & b_2 \\ b_3 & b_4 \end{pmatrix} \Leftrightarrow a_i \geq b_i$ for $i = 1, 2, 3, 4$.

For any $A \in \mathbb{A}$ we define its norm as, $\left\| \begin{pmatrix} a_1 & a_2 \\ a_3 & a_4 \end{pmatrix} \right\| = \left[\sum_{i=1}^4 |a_i|^2 \right]^{\frac{1}{2}}$.

Define $d : X \times X \rightarrow M_2(\mathbb{R}_+)$ as follows:

$$\begin{cases} d(x, y) = \begin{pmatrix} e^x - e^y & 0 \\ 0 & 0 \end{pmatrix} & \text{if } x \geq y \\ d(x, y) = \begin{pmatrix} 0 & 0 \\ 0 & e^{-x} - e^{-y} \end{pmatrix} & \text{if } x \leq y \end{cases}$$

and $E : X \times X \rightarrow M_2(\mathbb{R}_+)$, $E(x, y) = \begin{pmatrix} e^x + e^y & 0 \\ 0 & 0 \end{pmatrix}$.

Then (X, \mathbb{A}_+, d) is a C^* -algebra valued extended hexagonal b - asymmetric metric space.

Define mapping $T : X \rightarrow X$ by

$$T(x) = \frac{x}{3}.$$

Evidently, $T(x) \in X$. Then

$$\begin{cases} d(Tx, Ty) = \begin{pmatrix} e^{\frac{x}{3}} - e^{\frac{y}{3}} & 0 \\ 0 & 0 \end{pmatrix} & \text{if } x \geq y. \\ d(Tx, Ty) = \begin{pmatrix} 0 & 0 \\ 0 & e^{-\frac{x}{3}} - e^{-\frac{y}{3}} \end{pmatrix} & \text{if } x \leq y. \end{cases}$$

It follows that

$$d(Tx, Ty) \preceq \lambda^* E(x, y) d(x, y) \lambda.$$

Indeed

$$\begin{cases} d(Tx, Ty) \preceq \begin{pmatrix} \frac{1}{2} & 0 \\ 0 & \frac{1}{2} \end{pmatrix} \begin{pmatrix} e^x + e^y & 0 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} e^x - e^y & 0 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} \frac{1}{2} & 0 \\ 0 & \frac{1}{2} \end{pmatrix} & \text{if } x \geq y. \\ d(Tx, Ty) \preceq \begin{pmatrix} \frac{1}{2} & 0 \\ 0 & \frac{1}{2} \end{pmatrix} \begin{pmatrix} e^x + e^y & 0 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 \\ 0 & e^{-x} - e^{-y} \end{pmatrix} \begin{pmatrix} \frac{1}{2} & 0 \\ 0 & \frac{1}{2} \end{pmatrix} & \text{if } x \leq y. \end{cases}$$

Where

$$\lambda = \begin{pmatrix} \frac{1}{2} & 0 \\ 0 & \frac{1}{2} \end{pmatrix}$$

with verify

$$\|\lambda\| = \frac{1}{2} < 1.$$

Therefore, T has a unique fixed point $z = 0$.

Definition 3.17. Let X be a nonempty set, a mapping T is C^* -algebra valued extended hexagonal b -asymmetric expansion mapping on X , if $T : X \rightarrow X$ satisfies:

- (1) $T(X) = X$.
- (2) $d(Tx, Ty) \succeq \lambda^* E(x, y) d(x, y) \lambda$ with $\lambda \in \mathbb{A}$ and $\|\lambda^{-1}\| < 1$.

Theorem 3.18. Let (X, \mathbb{A}, d) is a complete C^* -algebra valued extended hexagonal b -asymmetric metric space and suppose $T : X \rightarrow X$ be a mapping satisfying

$$d(Tx, Ty) \succeq \lambda^* E(x, y) d(x, y) \lambda \quad \forall x, y \in X,$$

with $\lambda \in \mathbb{A}$, $\|\lambda\| < 1$.

Then T has a unique fixed point in X .

Proof. Firstly T is injective. We have for any $x, y \in X$ with $x \neq y$ if $Tx = Ty$.

$$\begin{aligned} \theta &= d(Tx, Ty) \succeq \lambda^* E(x, y) d(x, y) \lambda \\ &\Rightarrow d(x, y) = \theta. \end{aligned}$$

Which is a contradiction. Thus T is injective.

Substitute x, y with $T^{-1}x, T^{-1}y$, respectively, in

$$d(Tx, Ty) \succeq \lambda^* E(x, y) d(x, y) \lambda$$

and we get

$$d(x, y) \succeq \lambda^* E(T^{-1}x, T^{-1}y) d(T^{-1}x, T^{-1}y) \lambda.$$

Then

$$(\lambda^{-1})^* d(x, y) \lambda^{-1} \succeq E(T^{-1}x, T^{-1}y) d(T^{-1}x, T^{-1}y) \succeq d(T^{-1}x, T^{-1}y).$$

Using Theorem 3.9, there exists a unique x such $T^{-1}x = x$, which means there has a unique fixed point $x \in X$ such that $Tx = x$. \square

4. APPLICATION

As application of theorem on complete C^* -algebra valued extended hexagonal b -asymmetric metric spaces, existence and uniqueness results for a type of following integral equation

$$x(t) = \int_U K(t, s, x(t)) ds + f(t) \quad t \in U,$$

where U is a Lebesgue measurable set.

Suppose that

- (1) $K : U \times U \times \mathbb{R} \rightarrow \mathbb{R}$ and $f \in L^\infty(U)$.
- (2) There exists a continuous function $\varphi : U \times U \rightarrow \mathbb{R}$ and $\alpha \in (0, 1)$ such that

$$|K(t, s, u) - K(t, s, v)| \leq \alpha |\varphi(t, s)(u - v)| \quad \forall t, s \in U \text{ and } u, v \in \mathbb{R}.$$

- (3) $\sup_{t \in U} \int_U |\varphi(t, s)| ds \leq 1$.

Then, the integral equation has a unique solution $z \in L^\infty(U)$.

Proof. Let $X = L^\infty(U)$, $H = L^2(U)$ and $\mathbb{A} = B(H)$.

Define a C^* -algebra valued extended hexagonal b - asymmetric metric

$$d : X \times X \rightarrow \mathbb{A}$$

by

$$\begin{cases} d(x, y) = \pi_{x-y} \text{ if } x \geq y. \\ d(f, g) = \pi_{y-x} \text{ if } y \leq x. \end{cases}$$

Where $\pi_h(\varphi) : H \rightarrow H$ is the multiplication operator defined by $\pi_h(\varphi) = h \cdot \varphi$ for $\varphi \in H$.

Then d is a C^* -algebra valued extended hexagonal b - asymmetric metric.

Define $T : X \rightarrow X$ by

$$Tx(t) = \int_U K(t, s, x(t)) ds + f(t), \quad t \in U.$$

If $x \geq y$ we have, for any $h \in H$

$$\begin{aligned}
 \|d(Tx, Ty)\| &= \sup_{\|h\|=1} (\pi_{x-y}h, h) \\
 &= \sup_{\|h\|=1} \int_U [\int_U K(t, s, x(t)) - K(t, s, y(t)) ds] h(t) \overline{h(t)} dt \\
 &\leq \sup_{\|h\|=1} \int_U [\int_U |K(t, s, x(t)) - K(t, s, y(t))| ds] |h(t)|^2 dt \\
 &\leq \sup_{\|h\|=1} \int_U [\int_U |\alpha \varphi(t, s)(x(s) - y(s))| ds] |h(t)|^2 dt \\
 &\leq \alpha \sup_{\|h\|=1} \int_U [\int_U |\varphi(t, s)| ds] |h(t)|^2 dt \cdot \|x - y\|_\infty \\
 &\leq \alpha \sup_{\|h\|=1} \int_U [|\varphi(t, s)| ds] \cdot \sup_{\|h\|=1} \int_U |h(t)|^2 dt \cdot \|x - y\|_\infty \\
 &\leq \alpha \|x - y\|_\infty \\
 &= \alpha \|d(x, y)\|.
 \end{aligned}$$

In the same way for $x \leq y$.

Then the integral equation has a unique solution $z \in L^\infty(U)$. \square

REFERENCES

- [1] Agarwal, S., Qureshi, K., & Nema, J. (2016). A fixed point theorem for b-metric space. *International journal of pure and applied mathematical sciences*, 9(1), 45-50.
- [2] Aminpour, A. M., Khorshidvandpour, S., & Mousavi, M. (2012). Some results in asymmetric metric spaces. *Mathematica Aeterna*, 2, 533-540.
- [3] Asim, M., & Imdad, M. (2020). C^* -Algebra valued extended b-metric spaces and fixed point results with an application. *UPB Science Bulletin, Series A*, 82(1), 207-218.
- [4] Bakhtin, I. (1989). The contraction mapping principle in quasimetric spaces. *Functional analysis*, 30, 26-37.
- [5] Gopalan, K., Zubair, S. T., & Abdeljawad, T. (2022). New fixed point theorems in operator valued extended hexagonal b-metric spaces. *Palestine Journal of Mathematics*, 11(3), 48-56.
- [6] Kalpana, G., & Tasneem, Z. S. (2019). Common fixed point theorems in C^* -algebra-valued hexagonal b-metric spaces, *AIP Conference Proceedings*, 2095, 030012.
- [7] Kamran, T., Samreen, M., & UL Ain, Q. (2017). A generalization of b-metric space and some fixed point theorems. *Mathematics*, 5(2), 19.
- [8] Rossafi, M., Kari, A., & Park, C. (2022). Fixed-point theorems for $\theta - \phi$ -contraction in generalized asymmetric metric spaces, *International Journal of Mathematics and Mathematical Sciences*, 2020, 8867020.
- [9] Kari, A., Rossafi, M., & Massit, H. (2021). Some fixed point theorems on a C^* -algebra valued rectangular quasi-metric spaces, *Journal of Mathematical and Computational Science*, 11, 7459-7475.
- [10] Kari, A., & Rossafi, M. (2021). Fixed point theorems in a $(\alpha_A, \eta_A) - C^*$ -algebra valued b-quasi-metric spaces, *European Journal of Mathematics and Applications*, 1, 9.
- [11] Kari, A., Rossafi, M., Saffaj, H., Marhrani, E. M., & Aamri, M. (2022). Fixed point theorems for F-contraction in generalized asymmetric metric spaces. *Thai Journal of Mathematics*, 20(3), 1149-1166.
- [12] Khorshidvandpour, S., Mosaffa, M., & Mousavi, S. M. (2013). Some fixed point theorems in asymmetric metric spaces. *Scientia Magna*, 9(2), 13-17.
- [13] Ma, Z., Jiang, L., & Sun, H. (2014). C^* -algebra-valued metric spaces and related fixed point theorems, *Fixed Point Theory Applications*, 2014, 206.

- [14] Ma, Z., & Jiang, L., C^* –algebra valued b-metric spaces and related fixed point theorems, Fixed Point Theory Applications, 2015, 222.
- [15] Massit, H., & Rossafi, M., Fixed point theorems for ψ –contractive mapping in C^* –algebra valued rectangular b-metric spaces, Journal of Mathematical and Computational Science, 11, 6507-6521.
- [16] Rossafi, M., Kari, A., & Park, C. (2022). Fixed point theorems for $(\phi; F)$ –contraction in generalized asymmetric metric spaces, J. Korean Soc. Math. Educ. Ser. B: Pure Appl. Math. 29, 369–399.
- [17] Wilson, W. A. (1931). On quasi-metric spaces. American Journal of Mathematics, 53(3), 675-684.